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Technology Briefing 3 – Database Management

Multiple Choice

1. Databases can be billions or trillions of bytes in size.  These quantities are called:

    a. megabytes and trillabytes.

    b. kilobytes and gigabytes.

    c. terabytes and megabytes.

    d. gigabytes and terabytes.

2. A(n) _____________ is a collection of related data organized in a way to facilitate data searches.

  
    a. record

    b. database

    c. SQL

    d. DBA

3. Which organization below uses databases in their business operations?

    a. Lands’ End

    b. Eddie Bauer

    c. Nordstrom

    d. All of the above.

4. Database management systems enable organizations to _________ information easily.

    a. retrieve

    b. store

    c. analyze

    d. All of the above.

5. A database management system:

    a. is primarily a report generation tool.

    b. graphically displays relationships among entities.

    c. creates, stores, organizes, and retrieves data from a database.

    d. is used to develop interactive Web pages.

6. In the DBMS, the individual database is a(n):

    a. collection of related attributes about entities.

    b. set of records.

    c. set of attributes.

    d. text file.

7. Which of the following is the best example of a database?

    a. A collection of books on a shelf

    b. Articles within a magazine

    c. A set of coins in an envelope

    d. An alphabetically listed address book

8. Which of the following non-computer items is an example of a database?

    a. A card catalog in a library

    b. An organized file cabinet

    c. An alphabetic directory listing

    d. All of the above.

9. A popular personal computer DBMS is:

    a. Netscape Communicator.

    b. Microsoft Access.

    c. PageMaker Pro.

    d. PowerPoint.

10. A(n) _____________ is a software application which one uses to create, store, organize, and retrieve data from a single database or multiple databases.

    a. record

    b. database administrator

    c. database management system

    d. query by example

11. When considering data in a database entity, each row is a:

    a. file.

    b. record.

    c. data dictionary.

    d. template.

12. Another term for an entity is a:

    a. table.

    b. data.

    c. report.

    d. query.

13. Entities are comprised of rows and columns.  Each column is a(n):

    a. record.

    b. DBMS.

    c. table.

    d. attribute.

14. Which of the following is an attribute about a person?

    a. Name

    b. Social security number

    c. Salary

    d. All of the above.

15. Most databases managed under a DBMS consist of several:

    a. files.

    b. tables.

    c. entities.

    d. All of the above.

16. How many entities can a database have?

    a. One

    b. Two

    c. Many

    d. None

17. An advantage of a database approach to information management is:

    a. it is easier to control and deploy data access.

    b. it is easier to enforce standards.

    c. enhanced data quality.

    d. All of the above.

18. A disadvantage of a database approach to information management is:

    a. minimal data redundancy.

    b. reduced program maintenance.

    c. improved data accessibility.

    d. higher expense.

19. Which of the following is NOT an advantage to a database management system?

    a. Reduced data consistency

    b. Increased productivity of application development

    c. Improved data quality

    d. Reduced data redundancy

20. Who is responsible for the management and development of the organization's database?

    a. DBA

    b. CEO

    c. CIO

    d. DFO

21. The person responsible for designating who can look at a database and who is authorized to make changes is the:

    a. project leader.

    b. chief information officer.

    c. database administrator.

    d. security officer.

22. Which of the following are costs or risks associated with database management?

    a. New, specialized personnel

    b. Installation costs

    c. Conversion costs

    d. All of the above.

23. All of the following are true about costs or risks associated with database management 

EXCEPT:

    a. organizational conflicts are reduced.

    b. higher up-front costs associated with installation.

    c. increased database complexity.

    d. additional employees and expenses.

24. To ensure proper security features in a database, the DBA should:

    a. work alone.

    b. coordinate with users.

    c. coordinate with the CEO.

    d. coordinate with organizational managers.

25. The process of retrieving data from a database is called:

    a. an extraction.

    b. a query.

    c. a removal.

    d. filtration.

26. A ____ is the most common language used to interface with databases.

    a. sample query language

    b. query interface language

    c. structured query language

    d. standard query language

27. What is a form?

    a. A graphical user interface with some blanks (text boxes, list boxes, option buttons, etc.) where the user can enter information or make choices.

    b. A printed listing of results from a database query.

    c. A completed SQL program.

    d. The process of shaping and designing a database.

28. A(n) __________ is a graphical user interface with some blanks (text boxes) where the user can enter information or make choices, each of which represents an attribute (or field) within a database record.

    a. GUI

    b. QBE

    c. entity

    d. form

29. Forms can be used to _______ data from a database.

    a. add

    b. modify

    c. delete

    d. All of the above.

30. Which of the following is a computer language?

    a. SQL

    b. GUI

    c. QBE

    d. DBA

31. Which of the following enables us to fill out a grid or template in order to extract information from a database?

    a. SQL

    b. GUI

    c. QBE

    d. DBA

32. Query by example:

    a. is a language for manipulating the contents of a database.

    b. graphically displays relationships among entities.

    c. is a technique using a template to select the attributes and criteria for extracting information from a database.

    d. generates print-outs of customized database reports.

33. Many DBMS packages such as Microsoft Access have a simple way of interfacing with the databases using a concept called:

    a. QBE.

    b. QBC.

    c. QCC.

    d. QRC.

34. A(n) __ is a compilation of data from the database organized and produced in printed format.

    a. table

    b. report

    c. form

    d. entity

35. A(n) __________ is software that is used to retrieve data from a database and the results are manipulated (aggregated, transformed, and grouped) into a nicely formatted display.

    a. entity formatter

    b. database designer

    c. query

    d. report generator

36. Databases do one no good if they are not organized.  The process of organizing and structuring databases efficiently is called:

    a. data implementation.

    b. database design.

    c. infrastructure management.

    d. systems architecture.

37. A(n) ___________ is a map or diagram that represents entities and their relationships.

    a. report

    b. table

    c. data model

    d. entity mapper

38. A unique identifier for linking entities together is a:

    a. link list.

    b. master key.

    c. primary key.

    d. merge link.

39. Which of the following would make a bad primary key?

    a. Social security number

    b. Driver's license number

    c. Combination of last name and date of birth

    d. Student identification number (where numbers are unique)

40. A secondary key:

    a. is an attribute not referred to as a primary key.

    b. identifies one or more records within a table that share a common value.

    c. can be multiple attributes in a table.

    d. All of the above.

41. Unique identifiers that are a combination of two or more attributes are called:

    a. primary keys.

    b. combination primary keys.

    c. sequential primary keys

    d. secondary keys.

42. A database key comprised of two or more attributes is called a(n):

    a. duplicate key.

    b. combination lock.

    c. conjoined key.

    d. combination primary key.

43. A database key not used as a primary key but used to identify records in a table that share a common value is called a(n):

    a. secondary key.

    b. tertiary key.

    c. dual key.

    d. duplicate key.

44. One-to-one, one-to-many, and many-to-many are descriptions of "parent-child" database relationships called:

    a. constructions.

    b. combinations.

    c. linkages.

    d. associations.

45. A(n) ____________ refers to an attribute that appears as a nonprimary key attribute in one entity and as a primary key attribute in another entity.

    a. secondary key

    b. master key

    c. merge key

    d. foreign key

46. The database relationship example of each player participating in games and each game having many players is an example of what type of relationship?

    a. One-to-one

    b. One-to-many

    c. Many-to-many

    d. None of the above.

47. The database relationship example of a player being on one team, but a team having many players, is an example of what type of relationship?

    a. One-to-one

    b. One-to-many

    c. Many-to-many

    d. None of the above.

48. The database relationship example of each team having one home stadium and each home stadium having one team is an example of what type of relationship?

    a. One-to-one

    b. One-to-many

    c. Many-to-many

    d. None of the above.

49. By placing a key from one entity in the table of another entity, we are creating inevitable but necessary:

    a. overlapping.

    b. database conflicts.

    c. redundancy.

    d. incompatibility.

50. A diagramming technique for designing databases which shows associations between entities and where each relationship can be labeled on the diagram is called:

    a. a structure chart.

    b. an entity relationship diagram.

    c. a database model.

    d. a flow chart.

51. ERDs are:

    a. useful when designing complex databases.

    b. drawn with entities as boxes and lines for relationships.

    c. used to show associations.

    d. All of the above.

52. Which is the most common DBMS model?

    a. Network

    b. Hierarchical

    c. Relational

    d. System

53. A database management package, which is based upon a relational database model, is called a:

    a. DBMS

    b. RDBMS

    c. RDBS

    d. RMDB

54. Database files in relational model databases exhibit how many dimensions?

    a. One

    b. Two

    c. Three

    d. Four

55. Database files in flat file databases exhibit how many dimensions?

    a. One

    b. Two

    c. Three

    d. Four

56. A major goal and benefit of using data normalization is:

    a. the elimination of data redundancy.

    b. faster database queries.

    c. SQL works best with normalization.

    d. normalization eliminates the need for queries.

57. What technique makes complex databases more efficient and more easily handled by the DBMS?

    a. Word processing

    b. Data definition

    c. Entity management

    d. Normalization

58. The elimination of data redundancy is a major goal and benefit of:

    a. entities.

    b. queries.

    c. a data dictionary.

    d. normalization.

59. _____________ is the term used to identify whether a field is numeric, text, a date or time value, etc.

    a. Data category

    b. Data value

    c. Data type

    d. Data reference

60. Knowing the data type is useful because it helps the DBMS know how to:

    a. sort data.

    b. complete calculations.

    c. allocate storage space.

    d. All of the above.

61. Which of the following is a collection of information that describes data types, uses, storage requirements, and rules that effect data?

    a. Data mine

    b. Data warehouse

    c. Data mart

    d. Data dictionary

62. ____________ are standards governing the updating of data, including who has authority to view and update data, acceptable range of data values, and how the data are to be updated.

    a. Protocols

    b. Business rules

    c. ANSI standards

    d. Computer programs

63. The world's largest bookstore, with 2.5 million titles is:

    a. Barnes & Noble (bn.com).

    b. Amazon.com.

    c. Books.com.

    d. BordersBooks.com.

Technology Briefing 4 – Networking

Multiple Choice

1. Computer networks require all of the following EXCEPT:


a. senders and receivers that have something to share.

b. protocols.

c. transmission medium.

d. modems.

2. The term _____________ refers to the physical pathways used to carry network information.


a. networks

b. transmission media

c. wireless

d. protocols

3. As with human communications, computer networks require three things: senders and receivers, a transmission medium, and rules or ___________.
a. audio

b. communications

c. networks

d. protocols

4. Procedures that different computers follow when they transmit and receive data are called ___________.


a. networks

b. protocols

c. controls

d. modems

5. One of the differences between human and computer communication is that human communication consists of words, whereas computer communications consist of ______, the fundamental information units of computers.


a. bits

b. protons

c. blips

d. protocols

6. ________ is the process of converting a photograph, a song, or text into digital information, or bits.


a. Atomizing

b. Bitmapping

c. Reduction

d. Digitizing

7. The ________ computing model consists of a large mainframe computer connected to terminals.


a. distributed

b. network

c. centralized

d. decentralized

8. Devices with a keyboard and monitor, but with no localized computing power, that are connected to a mainframe are called:


a. end points.

b. terminals.

c. servers.

d. distributed computers.

9. The ________ computing model occurs when multiple computers (such as personal computers) are networked together to share information and services.


a. wide area network

b. local area network

c. centralized

d. distributed

10. The ________ computing model is a synergistic form of distributed computing, in which two or more networked computers are used to accomplish a common processing task.


a. networked

b. centralized

c. collaborative

d. distributed

11. A company has a computer to store a large employee database, and another computer used to process and update individual employee records. These two computers work together to keep the employee records current. This is an example of ________ computing.


a. networked

b. centralized

c. collaborative

d. distributed

12. Which of the following is/are a type of network?


a. LANs

b. WANs

c. PANs

d. All of the above.

13. A(n) __________ is a telephone system that serves a particular location.


a. LAN

b. PBX

c. EFT

d. ISP

14. A network that spans a relatively small area, allowing computer users to connect and share information within a building or limited geographical area is called a _______ network.


a. wide area

b. personal area

c. value-added

d. local area

15. A _______ network is a computer network that is used to connect to or more LANs.


a. wide area

b. personal area

c. value-added

d. metropolitan area

16. The Internet is an example of a(n) ________ network, one which spans multiple countries across the world.


a. global

b. value-added

c. enterprise

d. centralized

17. A medium-speed WAN that includes capabilities such as e-mail, EDI, or security, is called a _______ network.


a. wide area

b. personal area

c. value-added

d. local area

18. When considering LANs, WANs, PANs, and PBXs, which ones are always wireless?


a. LANs

b. WANs

c. PANs

d. PBX

19. The enabling technology for PANs is called:


a. Bluetooth

b. Viking

c. Bluewave

d. Bluenet

20. A ________ consists of three separate components: servers, clients, and peers.


a. network

b. protocol

c. control

d. modem

21. A _________ is any computer on the network that makes access to files, printing, communications, and other services available to users of the network.


a. peer

b. client

c. server

d. topology

22. A ________ is any computer on the network that uses services provided by the server.


a. peer

b. client

c. control

d. topology

23. A _______ is any computer that may both request and provide services.


a. modem

b. client/server

c. operating service

d. peer

24. The trend in business is to use _______ networks in which servers and clients have defined roles.


a. peer-to-peer

b. server-centric

c. client-server

d. integrated

25. In _______ networks, any computer or device on the network can provide or request services.


a. peer-to-peer

b. server-centric

c. client-server

d. integrated

26. A ________________ is system software that controls the network and enables computers to communicate with each other.


a. web service

b. network operating system

c. router

d. gateway

27. Novell NetWare, Microsoft Windows Server, and LANtastic are examples of:


a. databases.

b. groupware.

c. network operating systems.

d. operating systems.

28. __________ is the carrying capacity of the computer or communications channel.


a. Attenuation

b. EMI

c. Bandwidth

d. Saturation

29. __________ is the tendency of an electric signal to weaken as it is sent over increasing distance.


a. Attenuation

b. Bandweakening

c. Coaxial fade

d. Dissipation

30. ___________ occurs when fluorescent lights, weather, or electronic signals interfere with the original signal being sent.


a. Attenuation

b. EMI

c. Bandwidth

d. Saturation

31. There are two forms of media used in networks: cable and _________ media.


a. topology

b. coaxial

c. fiber-optic

d. wireless

32. __________ cable is made of two or more pairs of insulated copper wires twisted together.


a. Twisted pair

b. Backbone

c. Coaxial

d. Fiber-optic

33. __________ cable contains a solid inner copper conductor, surrounded by plastic insulation and an outer braided copper or rail shield.


a. Twisted pair

b. Backbone

c. Coaxial

d. Fiber-optic

34. __________ cable is made of a light-conducting glass or plastic core, surrounded by more glass, called cladding, and a tough outer sheath.


a. Twisted pair

b. Backbone

c. Coaxial

d. Fiber-optic

35. High-speed network backbones are generally made of ________ cable.


a. twisted pair

b. backbone

c. coaxial

d. fiber-optic

36. A TV remote control is an example of which type of wireless media?


a. Infrared line of sight

b. High-frequency radio

c. Microwave

d. Modulator-demodulator

37. A cellular phone is an example of which type of wireless media?


a. Infrared line of sight

b. High-frequency radio

c. Microwave

d. Modulator-demodulator

38. A wireless local area network (LAN) is an example of which type of wireless media?


a. Infrared line of sight

b. High-frequency radio

c. Microwave

d. Modulator-demodulator

39. Wireless LANs are based on the ________ family of standards.


a. 311.1

b. 486.4

c. 802.11

d. 911

40. A new standard for PANs, developed by Nokia to achieve lower power consumption, is called:


a. Bluetooth

b. N-PAN

c. Wibree

d. Wi-Light

41. A satellite communication is an example of which type of wireless media?


a. Infrared line of sight

b. High-frequency radio

c. Microwave

d. Modulator-demodulator

42. The time it takes for a signal to travel between the satellite and the receiver is called:


a. satellite lag

b. latency

c. propagation delay

d. transmission delay

43. ____________ uses 24 active satellites to allow users to triangulate their position anywhere on the planet.


a. GIS

b. GPS

c. LBS

d. LEO

44. ____________ are the rules that govern how a given node or workstation gains access to the network to send or receive information.


a. Protocols

b. Media access controls

c. Message services

d. Application services

45. The most commonly used method of distributed access control is called ___________.


a. token passing

b. carrier sense multiple access / collision detect

c. client/server

d. Transmission Control Protocol / Internet Protocol

46. The most commonly used method of random access control is called ___________.


a. token passing

b. carrier sense multiple access / collision detect

c. client/server

d. Transmission Control Protocol / Internet Protocol

47. ___________ refers to the shape of a network.


a. Communications mapping

b. Network geography

c. Network morphology

d. Network topology

48. The network configuration when all nodes or workstations are connected to a central hub or concentrator through which all messages pass is called a:


a. star network.

b. ring network.

c. bus network.

d. mesh network.

49. The network configuration in the shape of a closed loop is called a:


a. star network.

b. ring network.

c. bus network.

d. mesh network.

50. The network configuration when the network is an open-ended line is called a:


a. star network.

b. ring network.

c. bus network.

d. mesh network.

51. A network in which the computers or devices are either fully or partially connected to each other is called a:


a. star network.

b. ring network.

c. bus network.

d. mesh network.

52. _________ are agreed-upon formats for transmitting data between connected computers.


a. Topologies

b. Multiplexers

c. Configurations

d. Protocols

53. The __________ model is a protocol that represents a group of specific tasks as successive layers that enable computers to communicate data.


a. TCP/IP

b. OSI

c. EDI

d. LAN

54. ________ is a local area network protocol (developed by the Xerox Corporation in 1976) which uses random access control to send data.


a. WireNet

b. SimNet

c. Arpanet

d. Ethernet

55. ________ is the protocol of the Internet which allows different interconnected networks to communicate using the same language.


a. TCP/IP

b. OSI

c. EDI

d. LAN

56. A _________ is used to terminate cable in order to be plugged into a network interface card or into other network components.


a. jack

b. hub

c. connector

d. distributor

57. A(n) _________ is a PC expansion board that plugs into a computer so that it can be connected to a network.


a. expansion card

b. TCP/IP card

c. hard card

d. network interface card

58. A __________ is a modulator/demodulator that enables computers to transmit data over telephone lines and thereby connect your PC with other PCs in a computer network.


a. signal switcher

b. transmission media

c. modem

d. hub

59. A(n) __________ is a network device used to regenerate or replicate a signal as it weakens when traveling on a network.


a. amplifier

b. repeater

c. extender

d. booster

60. A_______ is used as a central point of connection between media segments for the purpose of extending the network to accommodate additional workstations.


a. hub

b. bridge

c. transmission media connector

d. modem

61. A _________ is used to connect two different LANs or two segments of the same LAN by forwarding network traffic between network segments.


a. hub

b. bridge

c. transmission media connector

d. modem

62. A(n) ________ is used to share a communication line or medium among a number of users because it is able to transmit several signals over a single channel.


a. gateway

b. merge unit

c. integrator

d. multiplexer

63. A _______ is an intelligent device used to connect two or more individual networks by looking at the network address and passing the signals on to the appropriate network.


a. connector

b. modem

c. router

d. multiplexer

64. A(n) ________ is both a bridge and a router.


a. brouter

b. hub

c. integrator

d. multiplexer

65. A ________ is a device that acts as a "buffer" between a LAN and a public carrier's WAN.  It ensures that all signals placed on the public lines from the LAN are appropriately timed and formed for the public network.


a. hub

b. bridge

c. transmission media connector

d. channel service unit (CSU)

66. A __________ performs protocol conversion so that different networks can communicate even though they "speak" different languages.


a. hub

b. gateway

c. router

d. bridge

Technology Briefing 5 – The Internet and the World Wide Web

Multiple Choice

67. ______________ started researching ways to interconnect networks of various kinds back in the sixties.


a. ARPANET

b. DARPA

c. WAN

d. NSF

68. DARPA started researching ways to interconnect networks of various kinds back in the late sixties, producing _________________.


a. ARPANET

b. DARPA

c. WAN

d. NSFNET

69. The first WAN that linked universities and research center was called:


a. ARPANET

b. DARPA

c. WAN

d. NSFNET

70. In 1986, the National Science Foundation initiated the development of _______________, which became a major component of the Internet.


a. ARPANET

b. DARPA

c. WAN

d. NSFNET

71. The Internet relies on ___________ technology, which enables millions of users to send large and small chunks of data across the Internet concurrently, based on the concept of turn-taking.


a. mainframe

b. e-commerce

c. wireless

d. packet-switching

72. The technology that enables millions of users to send large and small chunks of data across the Internet concurrently is ___________________.


a. local area networks.

b. internetworking.

c. packet switching.

d. sliding doors.

73. Packet switching uses the concept of:


a. turn taking

b. first come-first served

c. first in-first out

d. last in-first out

74. ___________ define the procedures that different computers follow when they transmit and receive data.


a. Networks

b. Protocols

c. Transmission media

d. Terminals

75. The protocol of the Internet is:


a. UDP.

b. IP.

c. TCP/IP.

d. NSF.

76. A data packet that conforms to IP specifications is called a(n) _____________________.


a. IP datagram.

b. destination address.

c. transmission media.

d. information sequence.

77. ___________ defines how a data packet must be formed and where a router will forward each packet.


a. TCP

b. IP

c. UDP

d. NSF

78. Every computer and router connected to the Internet has a ______________ address.


a. protocol

b. media

c. unique

d. standard

79. The unique address assigned to every computer and router connected to the Internet is called:


a. IP datagram.

b. destination address.

c. IP address.

d. TCP address.

80. Routers:


a. have a central processor, memory, and network interfaces.

b. are used to interconnect independent networks.

c. forward data packets from one network to another.

d. All of the above.

81. The Internet uses special-purpose computers called _______ to interconnect independent networks.


a. backbones

b. routers

c. senders

d. distributors

82. A _______ manages the bulk of network traffic and typically uses a higher-speed connection than the individual LAN segments.


a. backbone network

b. router

c. interconnection network

d. distributor network

83. The only job of __________ is to connect networks and forward data packets from one network to another.


a. backbones

b. routers

c. senders

d. distributors

84. ___________ are the fundamental building blocks of the Internet because they connect thousands of LANs and WANs.


a. Backbones

b. IP datagrams

c. Packets

d. Routers

85. A(n) ____________ is a Web address containing a domain name, which identifies a particular Web page.


a. HTTP

b. IP datagram

c. data packet

d. Uniform Resource Locator (URL)

86. In this Web address, www.google.com, what is the domain name?


a. www

b. google.com

c. com

d. index

87. Which of the following domain extensions, or top-level domains, belongs to a commercial business (whether technical or nontechnical)?


a. .com

b. .net

c. .mil

d. .org

88. Which of the following domain extensions, or top-level domains, belongs to an educational institution?


a. .gov

b. .edu

c. .uni

d. .org

89. A domain name can be associated with ________ IP address(es).


a. one

b. multiple

c. about a dozen

d. unlimited

90. Domain names have associated numbers such as 1.160.10.240 which enable networks to route messages to the proper destination.  These numbers are called:


a. domain numbers.

b. Uniform Resource Locators.

c. IP addresses.

d. IP datagrams.

91. The ________________________acts as a central repository for Internet-related information.


a. Internet Registry

b. IANA

c. IAB

d. IETF

92. What root database is used to associate Internet host names with their IP addresses?


a. DNS

b. TCP

c. IANA

d. InterNIC

93. Why are we transitioning to Ipv6?


a. to avoid confusion when InterNIC morphed into ICANN.

b. the number of unassigned Internet addresses is running out.

c. to take the Internet worldwide.

d. to comply with new government regulations.

94. How does one typically connect to the Internet from home?


a. Through an InterNIC.

b. Through an Internet Service Provider (ISP).

c. Through the Domain Name System (DNS).

d. Through the ICANN.

95. An ISP connects to the Internet at an exchange point for Internet traffic, much like a railway station.  These exchange points are called:


a. interchange points.

b. intersections.

c. Network Access Points (NAPs).

d. onramps.

96. NAPs are a key component of the:


a. Internet backbone.

b. wide-area network.

c. ISPs’ infrastructure.

d. DSL service.

97. The structure of the Internet is:


a. flat.

b. convoluted.

c. hierarchical.

a. relational.
98. When considering Internet connections there are multiple options.  One of them, POTS, stands for:


a. phone operation telecommunication system.

b. public online transfer system.

c. personal online telecommunications service.

d. plain old telephone service.

99. POTS is also known as:


a. phone operation telecommunication system.

b. public switched telephone network.

c. public online transfer system.

d. personal online telecommunications service.

100. When considering Internet connections there are multiple options.  One of them, ISDN, stands for:


a. Integrated Services Digital Network.

b. Internet Signal Direct Network.

c. Information Systems Dial-up Network.

d. International Systems Data Network.

101. DSL stands for:


a. Digital Subscriber Lines.

b. Direct Signal Licenses.

c. Data Source Libraries.

d. Dynamic Signal Links.

102. Cable modems provide Internet service:


a. over one's phone lines.

b. with a fiber-optic cable.

c. wirelessly.

d. through cable TV lines.

103. When considering Internet connections there are multiple options.  One of them, IoS, stands for:
a. Internet over Satellite.

b. Information-online Service.

c. Information of Substance.

d. Internet on Site.

104. Satellites that are placed in a fixed position above the earth’s surface are known as:
a. fixed satellites.

b. geostationary.

c. Asymmetric Technology Modem.

d. fixed wireless.

105. In rural areas where other high-speed connectivity options are not available, home users often choose ________, which requires line of sight between the sender and receiver.


a. cable modem

b. broadband wireless

c. mobile wireless

d. fiber to the home

106. Fiber to the home (FTTH) is also known as:


a. Fiber to the premises (FTTP)

b. Fiber optic connectivity (FOC)

c. Cable Internet

d. Broadband cable

107. A _______ is a dedicated digital transmission line that can carry 1.544 Mbps of information.


a. satellite link-up

b. T1 line

c. POTS system

d. wireless line

108. Companies that sell long-distance services are called:


a. IXC

b. ATM

c. T1

d. T3

109. ________ lines are transmission lines that can carry 45 Mbps of information.


a. IXC

b. ATM

c. T1

d. T3

110. An ATM, used in the context technology for connecting to the Internet, stands for:
a. Automated Teller Machine.

b. Asynchronous Transfer Mode.

c. Asymmetric Technology Modem.

d. Automated Telecommunications Mode.

111. ________ lines are transmission lines that can carry up to 2.2 Gbps of information.


a. IXC

b. ATM

c. T1

d. T3

112. The system that uses existing power distribution wires for data transmission is called:


a. power line communication.

b. Internet over power lines.

c. power Internet.

d. WiMax.

113. A technology capable of providing high-speed stationary wireless access without needing line-of sight technology is called:


a. WiMax.

b. WiFi.

c. broadband wireless.

d. Internet over satellite.

114. Computers working as servers on the Internet are known as Internet ________.


a. servers

b. routers

c. hosts

d. sites

115. Which of the following is NOT a popular E-mail application?


a. Mozilla Thunderbird

b. Apple Mail

c. Outlook Express

d. GTalk

116. Which of the following is NOT a popular file sharing application?


a. Bittorrent

b. Google

c. FreeNet

d. WSFTP

117. Which of the following is NOT a popular instant messaging application?


a. AIM

b. GTalk

c. Jabber

d. Babbler

118. Which of the following is NOT a popular search engine?


a. Google

b. Opera

c. MSN

d. Dogpile

119. Which of the following is NOT a popular web browsing application?


a. Opera

b. Jabber

c. Internet Explorer

d. Firefox

120. Which of the following is NOT a popular voice communication application?


a. Skype

b. Bittorrent

c. GTalk

d. MSN Messenger

121. A(n) ________ is a software application that can be used to locate and display web pages.


a. web browser

b. Firefox

c. Internet Explorer

d. Gopher

122. ______ is a text-based, menu-driven interface that enables users to access Internet resources as if they were in folders and menus on their own computer.


a. Gopher

b. Usenet

c. Archie

d. Veronica

123. User requests for pages stored on Web servers are made with the ______________ protocol.
a. HTTP

b. HTML

c. gigaPoP

d. Internet2

124. A(n) ________ document contains links to other documents that contain related information.


a. hyperlink

b. hypertext

c. referenced

d. cross-linked

125. Web pages are hosted on:


a. clients.

b. web page providers.

c. ISPs.

d. web servers.

Chapter 4 – Managing the Information Systems Infrastructure

Multiple Choice

126. Google’s data center has been set up in The Dalles, OR due to all of the following EXCEPT:


a. high-speed connectivity.

b. access to unlimited water supply.

c. availability of cheap, uninterrupted power.

d. availability of skilled labor.

127. Which of the following is not considered a core business process?


a. Manufacture goods

b. Hire employees

c. Sell products

d. Provide service

128. Information gathered from different business processes to improve organizational decision-making are referred to as:


a. tacit knowledge.

b. explicit knowledge.

c. business intelligence.

d. street smarts.

129. Internal sources for gathering business intelligence include all EXCEPT:


a. sales figures.

b. competitor analysis..

c. customer demographics.

d. performance indicators.

130. Systems for gaining business intelligence ________ data in order to better manage the organization.


a. gather

b. process and analyze 

c. store

d. all of the above

131. What is not a question related to an organization’s hardware infrastructure faced by executives? 


a. What technologies should be chosen?

b. What time interval should equipment be replaced?

c. How can reliability be assured?

d. All of these questions are faced by executives.

132. _________ are facilities housing a vast number of servers to support the information processing needs of an organization.


a. Clusters

b. Server rooms

c. Server warehouses

d. Server farms

133. What is not among the most prominent threats to IS facilities?


a. Floods

b. Seismic activity

c. Volcanic activity

d. Hurricanes

134. ________ can help to deal with fluctuating computation needs.


a. On-demand computing

b. Grid computing

c. Autonomic computing

d. Pay-per-use computing

135. ________ can increase the reliability of an organization’s information systems infrastructure.


a. On-demand computing

b. Grid computing

c. Autonomic computing

d. Pay-per-use computing

136. Using on-demand computing, resources are allocated on a(n) ________ basis.


a. as-needed

b. most-important-application

c. prioritized

d. demand-adjusted

137. ________ refers to combining the computing power of a large number of smaller, independent, networked computers into a cohesive system in order to solve problems that only supercomputers were previously capable of solving.


a. On-demand computing

b. Grid computing

c. Autonomic computing

d. Pay-per-use computing

138. In a _______ grid, the computers are just there to perform the grid’s computing tasks.


a. homogeneous

b. dedicated

c. pure

d. uniform

139. One factor that adds to the popularity of using dedicated grids is:


a. the increased power.

b. the falling cost of computing hardware.

c. the increasing skill level of grid engineers.

d. outsourcing of noncore activities.

140. Today, it is often more cost effective to set up a __________ grid.


a. uniform

b. dedicated

c. heterogeneous

d. uniform

141. ________ computing uses relatively small servers close to the end users to save resources in terms of network bandwidth and access time.


a. Grid

b. Utility

c. Edge

d. Network

142. ________ computing systems are self-managing, meaning that they need only minimal human intervention to operate.


a. Grid

b. Utility

c. Edge

d. Autonomic

143. An autonomic computing system must know its:


a. configuration.

b. capacity.

c. current status.

d. All of the above.

144. In order to be able to use different computing resources, autonomic computing systems should be:


a. self-healing.

b. self-configuring.

c. self-optimizing.

d. self-protecting.

145. Autonomic computing systems should be ________, so that users can continue working on tasks, even if parts of the system are not operational.


a. self-healing

b. self-configuring

c. self-optimizing

d. self-protecting

146. ________ software refers to software the source code is freely available for use and/or modification.


a. Free

b. Source-code

c. Open-source

d. Application

147. Systems designed to perform specific, predefined task such as a digital video recorder (TiVo) or a network router are referred to as ________ systems.


a. integrated

b. specific

c. embedded

d. special-purpose

148. ________ is the operating system of choice for Web servers, embedded system, and supercomputers alike.


a. Tux

b. Pengu-ware

c. Linux

d. Unix

149. ________ are Web-based software systems used to integrate information from different applications and databases as well as allow different applications from different sources to interact over a network.


a. Integration services

b. Middleware applications

c. ASPs

d. Web services

150. One way to increase independence while still being able to integrate various software applications is the use of:


a. integration services.

b. middleware applications.

c. ASPs.

d. Web services.

151. In a(n) ________ architecture, different repeatable business tasks are integrated (using Web services) to better perform various business processes.


a. integrated

b. service-oriented

c. Web-oriented

d. e-Enabled

152. The Windows Update Service is an example of a ________ system.


a. bug-fixing

b. patch management

c. software asset management

d. online help and repair

153. ________ licenses usually contain limitations of liability and warranty disclaimers.


a. Enterprise

b. Consumer

c. Negotiated

d. Protected

154. The Linux operating systems is an example of:


a. public domain software.

b. nonprotective open source software.

c. protective open source software.

d. proprietary software.

155. The GNU general public license is a:


a. public domain software.

b. nonprotective open source software.

c. protective open source software.

d. proprietary software.

156. The Berkeley software development (BSD) license is a:


a. public domain software.

b. nonprotective open source software.

c. protective open source software.

d. proprietary software.

157. Some programs for outdated IBM mainframes are considered:


a. public domain software.

b. nonprotective open source software.

c. protective open source software.

d. proprietary software.

158. The Windows operating systems is:


a. public domain software.

b. nonprotective open source software.

c. protective open source software.

d. proprietary software.

159. ________ is a set of activities performed to better manage an organization's software infrastructure by being able to consolidate and standardize their software titles, decide to retire unused software, or decide when to upgrade or replace software.


a. Patch management

b. Software asset management

c. Software licensing

d. Software audit

160. Software asset management includes all of the following EXCEPT:


a. performing a software inventory.

b. matching installed software with licenses.

c. creating a software asset management plan.

d. All of these are part of software asset management.

161. Software asset management helps organizations to better manage their software infrastructure by enabling to:


a. consolidate and standardize software titles.

b. decide to retire unused software.

c. decide when to upgrade or replace software.

d. All of the above.

162. Application service providers offer:


a. on-demand computing.

b. on-demand software.

c. utility computing.

d. utility software.

163. A(n) _________ offers on-demand software on an as-needed basis to its clients over the web.


a. best-cost provider

b. software provider

c. Web service provider

d. application service provider

164. A(n) __________ ASP offers a solution package for an entire industry.


a. specialist or functional 

b. vertical market 

c. enterprise 

d. local 

165. A(n) __________ ASP offers broad solutions for the needs of different organizations.


a. specialist or functional 

b. vertical market 

c. enterprise 

d. local 

166. A(n) __________ ASP offers services for small businesses within a limited geographical area.


a. specialist or functional 

b. vertical market 

c. enterprise 

d. local 

167. ________ is the use of the Internet Protocol for transporting voice, video, fax, and data traffic.


a. IP conveyance

b. IP integration

c. IP communication 

d. IP convergence

168. _________ refers to the use of Internet technologies for placing telephone calls.


a. VoIP

b. IPT

c. IPP

d. PoIP

169. __________ is a method of analyzing data used by companies to sort and analyze information to better understand their customers, products, markets, or any other phase of their business.

a.  Data warehousing

b.  Data mining

c.  OODB

d.  Business rules

170. __________, a big part of interactive e-commerce on the Internet, refers to immediate automated responses to the requests of users.

a. Normalization

b. Entity relationship diagramming

c. Online analytical processing

d. Online transaction processing

171. Graphical software tools that provide complex analysis of stored data are:

a. OLTP.

b. OLAP.

c. OLST.

d. OLIP.

172. ________________ refers to immediate automated responses to user requests.

a. OLTP

b. OLAP

c. OLST

d. OLIP

173. When merging transaction and analytical processing a problem occurs.  Real-time analytical processing diminishes the performance of transaction processing.  What is the solution to this problem that many companies use?


a. Pause transaction processing while analytical processing is occurring.

b. Only allow transaction processing during off-peak hours.

c. Replicate all transactions on a second database server and run analytical processing off of the second server.

d. None of the above.

174. _________ are systems used to interact with customers and run a business in real time.


a. Operational systems

b. Informational systems

c. Structured query systems

d. Office automation

175. _________ are systems designed to support decision making based on point-in-time data or historical data.

a. Operational systems

b. Informational systems

c. Structured query systems

d. Office automation

176. The purpose of a data warehouse is to:

a. create backups for mission critical corporate data.

b. centralize the manageability of data collection.

c. put key business information into the hands or more decision makers.

d. store all corporate transaction data in one single location.

177. A _________ is a data warehouse that is limited in scope.  It contains selected information of the company's business, for example finance data, inventory data, or personnel data.

a. report

b. data model

c. data mart

d. query

178. A single repository of database information integrated from multiple large databases and other information sources is called a(n):

a. data warehouse.

b. data mart.

c. informational system.

d. data supermart.

179. Knowledge management is:

a. the processes that an organization uses to gain the greatest value from its knowledge assets.

b. the executive team in an organization in charge of data.

c. the executive team in charge of the knowledge workers.

d. the executive team who creates data.

180. Knowledge that can be documented, archived, and codified is called:

a. explicit knowledge.

b. tacit knowledge.

c. best practices.

d. implicit knowledge.

181. Knowledge that reflects processes and procedures that are located in a person’s mind is called:

a. explicit knowledge.

b. tacit knowledge.

c. best practices.

d. implicit knowledge.

182. A ________ is a facility in which businesses can rent space for servers or other information systems equipment.


a. collocation facility

b. server room

c. data warehouse

d. server warehouse

183. The most common cause(s) of disaster is (are):


a. power outages.

b. hardware failures.

c. floods.

d. All of the above.

184. The most important aspect of preparing for disaster is:


a. being prepared.

b. creating a disaster recovery plan.

c. analyzing information systems risk.

d. having an evacuation route.

185. A _______ backup site is backup facility consisting of an empty warehouse with all necessary connections for power and communication, but nothing else.


a. hot

b. cold

c. empty

d. dormant

186. To ________ means to synchronously store data on independent systems to achieve redundancy for purposes of reliability and/or performance.


a. synchronize

b. merge

c. mirror

d. reflect

187. ________ are controls helping to ensure the reliability of information, consisting of policies and their physical implementation, access restrictions, or recordkeeping of actions and transactions.


a. Information systems controls

b. Audit controls

c. Infrastructure controls

d. Access controls

188. Information systems controls include all of the following EXCEPT:


a. preventive controls.

b. detective controls.

c. corrective controls.

d. All of the above are parts of IS controls.

189. ________ is specific software to test applications and data, using test data or simulations.


a. CMMS

b. CAAT

c. S-OX

d. COBIT

190. The ________ Act is a government regulation formed as a reaction to large-scale accounting scandals that led to the downfall of large corporations that includes the use of information systems controls in compliance reviews.


a. Sarbanes-Oxley

b. Enron

c. COBIT

d. CAAT

191. ________ is a set of best practices that help organizations to both maximize the benefits from their information systems infrastructure, while at the same time establishing appropriate controls.


a. CMMS

b. CAAT

c. S-OX

d. COBIT

Chapter 5 – Enabling Commerce using the Internet

Multiple Choice Questions

1. The chapter's opening case relates that eBay.com business model. eBay’s profit possibly foretells:

    
    a. a stabilizing of Internet-based electronic commerce.

    b. a stabilizing of EDI.

    c. that much more time is needed for electronic commerce to become mainstream.

    d. None of the above.

2. The Internet and the World Wide Web are extremely well suited for:

    
    a. conducting business electronically.

    b. marketing products.

    c. consumer service and support.

    d. All of the above.

3. The Internet provides a set of interconnected ________ for individuals and businesses to complete transactions electronically.

    
    a. platforms

    b. networks

    c. Web rings

    d. communication technologies

4. Electronic commerce (EC) is defined as the online exchange of _____________ between firms, and also between firms and their customers.

    
    a. goods

    b. services

    c. money

    d. All of the above.

5. According to the book, EC was used as far back as the year ____ during the Berlin Airlift.

    
    a. 1941

    b. 1943

    c. 1945

    d. 1948

6. The Internet and the World Wide Web (Web) have fueled a revolution in the manner in which products and services are sold.  In this respect, their far-reaching effects have led to the creation of a nearly limitless:

    
    a. electronic marketplace.

    b. virtual auction house.

    c. virtual work environment.

    d. electronic social environment.

7. Electronic commerce goes beyond buying and selling.  EC can involve the events leading to a purchase, as well as ________ after the sale.

    
    a. marketing

    b. communication

    c. customer service

    d. management

8. There are several types of EC.  Transactions between businesses and consumers (B2C) are known as:

    
    a. business-to-customer.

    b. business-to-consumer.

    c. business-to-controller.

    d. business-to-carrier.

9. B2B is a type of EC that refers to transactions that occur as:

    
    a. business-to-consumer.

    b. business-to-buyer.

    c. business-to-business.

    d. buyer-to-business.

10. B2E types of EC are referred to as:

    
    a. business-to-employee.

    b. buyer-to-employee.

    c. business-to-environment.

    d. business-to-everyone.

11. eBay’s typical transaction is an example of a Web site that employs the _______ type of EC.

    
    a. B2B

    b. B2C

    c. B2E

    d. C2C

12. The combination of the Internet and Web technologies has given rise to a global platform where firms across the world can compete for customers and gain access to new:

    
    a. competitors.

    b. markets.

    c. monies.

    d. employees.

13. It is the worldwide connectivity of the Internet that provides a relatively ________ medium for marketing products over long distances.

    
    a. expensive

    b. difficult

    c. economical

    d. None of the above.

14. The factor of ______ is not a limitation as it is in traditional stores.

    
    a. money

    b. employees

    c. time

    d. culture

15. Web technologies allow integration of information via Web sites, which can be linked to corporate ______ to provide real-time access to information.

    
    a. headquarters

    b. databases

    c. executives

    d. warehouses

16. Web technologies help firms realize their goal of mass:

    
    a. production.

    b. profitability.

    c. customization.

    d. employment.

17. Interactive communication via the Web enables firms to build ________ by providing immediate communication and feedback to and from customers.

    
    a. customer loyalty

    b. profit

    c. databases

    d. firm image

18. The Web has provided interactive (two-way) communication, which is called:

    
    a. communication.

    b. interaction.

    c. collaboration.

    d. teamwork.

19. By providing ways for customers and firms to conduct business online without assistance from humans, the Internet and Web have significantly reduced ________ costs.

    
    a. production

    b. transaction

    c. human resource

    d. marketing

20. _______ is the phenomenon of cutting out the middle vendor ("middleman") and reaching customers in a more direct and efficient manner.

    
    a. Disintermediation

    b. Watermarking

    c. Reverse pricing

    d. Tunneling

21. Companies that choose to operate solely in the traditional physical markets are described as:

    
    a. brick-and-mortar.

    b. brick-and-click.

    c. pure play.

    d. business-and-mortar.

22. Click-only companies are also referred to as ______ companies.

    
    a. click-thru

    b. pure play

    c. pure click

    d. click-click

23. Click-only companies do not have:

    
    a. warehouses.

    b. supply chains.

    c. storefronts.

    d. employees.

24. Firms that operate in both the physical and virtual (online) arenas are termed ______.

    
    a. click-and-mortar

    b. click only

    c. brick-and-mortar

    d. pure play

25. Click-and-mortar businesses continue to operate their physical locations, but they have also added a(n) ____ component to their business strategy.

    
    a. strategic

    b. security

    c. EC

    d. marketing

26. Another challenge for the click-and-mortar company is the requirement for Web-based computing skills, which requires the company to make substantial investments in resources such as ______ and computers.

    
    a. software

    b. hardware

    c. networks

    d. people

27. Click-only companies are able to effectively compete with other types of companies on product or service:

    
    a. quality.

    b. price.

    c. volume.

    d. delivery.

28. Click-only companies may experience challenges in realizing:

    
    a. production.

    b. economies of scale.

    c. reverse pricing.

    d. an IPO.

29. A virtual company is another term for those companies that adopt a _______ strategy.

    
    a. brick-and-mortar

    b. click-only

    c. business-to-business

    d. click-and-mortar

30. A ____________model describes how the firm will generate profits and produce a superior return on invested capital.

    
    a. revenue

    b. business

    c. profit

    d. virtual

31. While EDI was generally limited to large corporations, the Internet and the Web have provided an economical medium over which information can be transmitted, thus enabling small to midsize enterprises to participate in _______ markets.

    
    a. B2C

    b. B2B

    c. C2C

    d. traditional

32. Web-based B2B systems range from simple _______ applications to complex trading exchanges where multiple buyers and sellers can congregate to conduct business online.

    
    a. Internet

    b. intranet

    c. extranet

    d. Web ring

33. Electronic Data Interchange (EDI) is the forerunner of modern ____ EC, as it was used to facilitate transactions between large corporations and their suppliers.

    
    a. B2C

    b. C2C

    c. B2B

    d. click-only

34. EDI refers to the _______ transmission of business information between organizations via telecommunications networks.

    
    a. digital

    b. paper

    c. managerial

    d. tunneling

35. The telecommunications networks that enable EDI are termed:

    
    a. LANs.

    b. VANs.

    c. WANs.

    d. CANs.

36. A VAN is a _________________ that provides a direct and secure vehicle for data transmission between a company and its business partners.

    
    a. vocal announcement network

    c. voice analog network

    c. vehicle analog network

    d. value-added network

37. The exchange of _____ in EDI follows a set of formatting standards, which specify how information is transmitted electronically.

    
    a. knowledge

    b. e-mail

    c. data

    d. voice mail

38. EDI began in the:

    
    a. 1940s.

    b. 1950s.

    c. 1960s.

    d. 1970s.

39. EDI allows companies to have up-to-date information at their command, which enables these companies to make more accurate:

    
    a. purchases.

    b. marketing strategies.

    c. forecasts.

    d. None of the above.

40. One particular limitation associated with EDI is its:

    
    a. lack of utility across many businesses.

    b. monetary expense.

    c. lack of need for skilled employees.

    d. All of the above.

41. While EDI has been used for four decades to conduct B2B transactions, the trend today in business is to use:

    
    a. the Internet and the Web.

    b. facsimiles.

    c. facsimiles and telephones.

    d. facsimiles and the Web.

42. A(n) ______ is a vehicle for communicating proprietary information with authorized users outside organizational boundaries.

    
    a. Internet

    b. extranet

    c. intranet

    d. Web ring

43. An extranet allows two or more firms to use the ______ to conduct business together.

    
    a. Web

    b. Internet

    c. intranet

    d. telephone

44. Web-based technologies are _________, which means that disparate computing systems can communicate with each other, provided that standard Web protocols have been implemented.

    
    a. uni-platform

    b. cross-platform

    c. multi-platform

    d. non-platform

45. B2B portals can be defined as ______ through which a business partner accesses secured, proprietary information from an organization.

    
    a. intranets

    b. access points

    c. back doors

    d. tunnels

46. _____ automate the business processes involved in selling or distributing products from a single supplier to multiple buyers.

    
    a. Distribution portals

    b. Procurement portals

    c. Enterprise portals

    d. Resource portals

47. _________ are designed to automate the business processes that occur before, during, and after sales have been transacted between a supplier and multiple customers.

    
    a. Resource portals

    b. Procurement portals

    c. Distribution portals

    d. Enterprise portals

48. Enterprise portals come in two basic forms, the distribution portal and the:

    
    a. production portal.

    b. procurement portal.

    c. profitability portal.

    d. procurement channel.

49. ________ are designed to automate the business processes that occur before, during and after sales have been transacted between a buyer and multiple suppliers.

    
    a. Procurement portals

    b. Resource portals

    c. Enterprise portals

    d. Distribution portals

50. Another term for an electronic marketplace is:

    
    a. trading exchange.

    b. trading floor.

    c. electronic exchange.

    d. multimedia marketplace.

51. _______ are operated by third-party vendors, meaning that they are built and maintained by a particular company.

    
    a. Electronic exchanges

    b. Trading exchanges

    c. Multimedia marketplaces

    d. Resource marketplaces

52. Use of the Internet and the Web for internal communications is accomplished by means of a(n):

    
    a. tunnel.

    b. extranet.

    c. intranet.

    d. LAN.

53. An intranet consists of an internal, ______ network using Web technologies to facilitate the secured transmission of proprietary information.

    
    a. private

    b. public

    c. corporate

    d. government

54. Employees access information on the intranet by means of a(n):

    
    a. file.

    b. e-mail.

    c. browser.

    d. printer.

55. Intranets and extranets provide many benefits to organizations, including:

    
    a. low-cost deployment.

    b. information timeliness and accuracy.

    c. positive return on investment.

    d. All of the above.

56. While an intranet looks and acts like a publicly accessible Web site, there are _____ that secure proprietary information from the public.

    
    a. boundaries

    b. intranet walls

    c. firewalls

    d. telecommunication walls

57. One of the significant intranet applications used by organizations to leverage their EC investment is:

    
    a. training.

    b. real-time access to information.

    c. application integration.

    d. All of the above

58. Organizations often install disparate applications on different computing platforms, which made it difficult for users to consolidate the needed information.  Today, these consolidation problems can be solved by adding a single product to the _______________________.

    
    a. SiteMinder.

    b. intranet Web server.

    c. firewall.

    d. web page.

59. Organizations can use ___________ to facilitate team efforts.

    
    a. their intranet

    b. IM Chat

    c. videoconferencing

    d. all of the above

60. B2C focuses on retail transactions between a company and:

    
    a. wholesalers.

    b. retailers.

    c. dealers.

    d. end consumers.

61. The major portion of B2C focuses on electronic retailing, which is also called:

    
    a. e-tailing.

    b. retailing.

    c. click-tailing.

    d. e-selling.

62. Which network is an unrestricted public network?

    
    a. Internet

    b. Intranet

    c. Extranet

    d. E-Net

63. Which network is a private network restricted to authorized employees?

    
    a. Internet

    b. Intranet

    c. Extranet

    d. E-Net

64. Which network is a private network used for communications with business partners?

    
    a. Internet

    b. Intranet

    c. Extranet

    d. E-Net

65. The book relates a three-stage model of EC.  Which of the following is not one of the stages?

    
    a. E-initiation

    b. E-information

    c. E-integration

    d. E-transaction

66. The e-information stage of EC involves the promotion of sales and marketing information via a(n):

    
    a. brochure.

    b. e-brochure.

    c. e-mail.

    d. voicemail.

67. The goal of the e-information stage is to achieve:

    
    a. collaboration.

    b. global dissemination of customized information.

    c. global dissemination of non-customized information.

    d. customer transaction processing.

68. E-information is more flexible than traditional promotional methods because this type of information:

    
    a. is more difficult to update.

    b. may be modified and posted quickly.

    c. labor expenses are increased.

    d. users obtain outdated information.

69. E-integration, the second stage of EC, is focused on accommodating requests for:

    
    a. general information.

    b. legal information.

    c. customized information.

    d. products.

70. In order to facilitate e-integration, Web sites must be integrated with organizational ________ in order to extract and display the appropriate information.

    
    a. headquarters

    b. sales offices

    c. databases

    d. IS team

71. The _____________________ phase adds the ability for customers to enter orders and payments online.

    
    a. E-transaction

    b. E-integration

    c. E-information

    d. E-bay

72. Which system allow customers to specify the product that they are looking for and set the price that they are willing to pay for the product?

    
    a. forward pricing

    b. menu-driven pricing

    c. reverse pricing

    d. watermarked pricing

73. The pricing scheme used by the company Priceline.com that allows customers to name their own price is a(n) ________________________ system.

    
    a. immediate pricing

    b. menu-driven pricing

    c. forward pricing

    d. reverse pricing

74. This type of technology allows for the tracking of illegal copies of music to be tracked to the original purchaser.

    
    a. Tracker technology

    b. Reverse download technology

    c. DRM

    d. Counterfeit technology

75. In the term m-commerce, the "m" refers to:

    
    a. mobile.

    b. multimedi
    a.

    c. multi-type.

    d. miscellaneous.

76. The ability for computing to spread unobtrusively throughout its physical environment is called __________________________.

    
    a. embedding.

    b. ubiquity.

    c. localization.

    d. personalization.

77. _______ actively pushes information at the consumer whether it is wanted or not.

    
    a. Pull marketing

    b. Punch marketing

    c. Distribution marketing

    d. Push marketing

78. The concept of the ____________ refers to a focus on niche markets, rather than purely on mainstream products:

    
    a. dissemination

    b. the long tail

    c. e-tailers

    d. m-commerce

